What you should be earning

Taking into account the rising cost of living, EVERYONE is worse off than in
2009.
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For example:

Someone on Grade 1, sp5 (e.g. a cleaner) is £1,994 per year worse off.
If pay had matched inflation they would be earning £14,429 instead of £12,435.

Someone on Grade 2, sp10 (e.g. a catering assistant) is £2,247 per year
worse off. If pay had matched inflation they would be earning £16,260 instead
of £14,013.

Someone on Grade 5, sp19 (e.g. senior library assistant) is £2,882 per
year worse off. If pay had matched inflation they would be earning £20,862
instead of £17,980.

Someone on Grade 10, sp38 (e.g. a senior social worker) is £5,142 per
year worse off. If pay had matched inflation they would be earning £37,214
instead of £32,072.




